
1080.    a)   1 + 2 + 3 + ⋯+ 𝑛 =
𝑛(𝑛+1)

2
 

 

1) S1=F(1) 

a1=S1 

a1=1  S1=1 

 𝐹(1) =
1(1+1)

2
= 1 ∙ 𝑠1 = 𝐹(1)    T 

2) 1 + 2 + 3 +⋯+ 𝑛⏟             
𝑠𝑛

=  
𝑛(𝑛+1)

2⏟  
𝐹(𝑛)

 → 1 + 2 + 3 + ⋯+ 𝑛⏟             
𝑆𝑛𝑠𝑛

+ 𝑛 + 1 =
(𝑛+1)(𝑛+2)

2⏟      
𝐹(𝑛+1)

 

 

𝑛(𝑛 + 1)

2
+
2(𝑛 + 1)

2
=
𝑛2 + 𝑛 + 2𝑛 + 2

2
=
𝑛2 + 3𝑛 + 2

2
=
(𝑛 + 1)(𝑛 + 1)

2
= 𝐹(𝑛+1) 

 

1081.     b) 
3

1∙2
+

7

2∙3
+⋯+

𝑛2+𝑛+1

𝑛(𝑛+1)
=

𝑛(𝑛+2)

𝑛+1
 

1) S1=F(1) 

a1=S1 

𝑎1 =
3

1 ∙ 2
=
3

2
 

𝐹(1) =
1(1+2)

1+1
=
3

2
  

S1=F(1)   T 

2) 
3

1∙2
+

7

2∙3
+⋯+

𝑛2+𝑛+1

𝑛(𝑛+1)
=

𝑛(𝑛+2)

𝑛+1
→

3

1∙2
+

7

2∙3
+⋯+⏟        

𝑠𝑛

(𝑛+1)2+(𝑛+1)+1

(𝑛+1)(𝑛+2)
=

(𝑛+1)(𝑛+3)

𝑛+2
 

𝑛(𝑛 + 2)

𝑛 + 1
+
(𝑛 + 1)2 + (𝑛 + 2)

(𝑛 + 1)(𝑛 + 2)
=
𝑛(𝑛 + 2)2 + (𝑛 + 1)2 + (𝑛 + 2)

(𝑛 + 1)(𝑛 + 2)

=
(𝑛 + 2)(𝑛2 + 𝑛2 + 1) + (𝑛 + 1)2

(𝑛 + 1)(𝑛 + 2)
=
(𝑛 + 2)(𝑛 + 1)2 + (𝑛 + 1)2

(𝑛 + 1)(𝑛 + 2)

=
(𝑛 + 1)2(𝑛 + 2 + 1)

(𝑛 + 1)(𝑛 + 2)
=
(𝑛 + 1)(𝑛 + 3)

(𝑛 + 2)
 


